Tuesday, August 14, 2019 7:49 AM

Answer:
$$\frac{(2x+5)^{2020}}{8080} - \frac{5(2x+5)^{2019}}{8076} + C$$

(8)
$$\frac{dx}{(1+\sqrt{x})^4}$$
Let $u = 1 + \sqrt{x}$. Then $du = \frac{1}{2\sqrt{x}} dx$

$$So, dx = 2\sqrt{x} du$$

$$\frac{2\sqrt{x}}{x^4} du$$

$$\int \frac{2(u-1)}{u^4} du = 2 \int \frac{u-1}{u^4} du$$

$$= 2 \int \left(\frac{1}{u^3} - \frac{1}{u^4}\right) du = 2 \int \left(u^{-3} - u^{-4}\right) du$$

$$= 2 \cdot \left(\frac{u^{-2}}{-2} - \frac{u^{-3}}{-3}\right) + C = -\frac{1}{(u^2)^2} + \frac{2}{30^3} + C$$

u-sub for definite integrals

E.g.
$$\int_{0}^{4} \sqrt{2x+1} dx$$

Let u = 2x + 1. Then du = 2 dx. So, $dx = \frac{du}{2}$

$$\int \sqrt{u} \frac{du}{2} = \frac{1}{2} \int \sqrt{u} du = \frac{1}{2} \int u^{1/2} du$$

1st way to proceed: continue finding the antiderivative,

get the answer in terms of x, then we FTC-II, plug

$$\frac{1}{2} \cdot \frac{\frac{3}{2}}{\frac{3}{2}} = \frac{\frac{3}{2}}{3} = \frac{(2x+1)^{\frac{3}{2}}}{3}$$

$$\frac{(2 \times +1)^{\frac{3}{2}}}{3} \begin{vmatrix} 4 \\ = \frac{(2 \cdot 4 + 1)^{\frac{3}{2}}}{3} - \frac{(2 \cdot 0 + 1)^{\frac{3}{2}}}{3} \\ = \frac{9 - \frac{1}{3} = \frac{26}{3}}{3}.$$

2nd way to proceed: Find the new bounds for u.

$$\frac{1}{2}$$
 $\int_{u}^{1/2} du$

Bounds for x: x=0 - Lower bound

Bounds for u: u=2x+1

-, lower bound for u: 2.0+1 = 1

upper bound for u: 2.4+1 = 9

$$\frac{1}{2} \int_{u}^{1/2} du = \frac{1}{2} \cdot \frac{u^{3/2}}{3/2} \Big|_{1}^{9}$$

$$= \frac{u^{3/2}}{3} \left| \frac{9}{1} = \frac{(9)^{3/2}}{3} - \frac{(1)^{3/2}}{3} \right|$$

$$=9-\frac{1}{3}=\boxed{\frac{26}{3}}$$

$$E. x. \int (3t - 1)^{50} dt$$

$$\begin{array}{c}
2 \\
1
\end{array}$$

$$\begin{array}{c}
1 \\
-x^2 \\
0
\end{array}$$

$$4) \int_{0}^{13} dx$$

$$\sqrt{1+2x}$$

(1) Let u=3t-1. Then du=3dt. So, dt=du 3

$$\frac{1}{3}\int_{-1}^{2}u^{50}du$$

Plug t=0 in u=3t-1. get lover bound for u is -1. upper bound for u: 2

$$\frac{1}{3} \cdot \frac{1}{51} = \frac{2}{-1}$$

$$\frac{1}{3} \cdot \frac{51}{51} = \frac{1}{153} (2^{51} + 1)$$

Let $u = -x^2$. Then du = -2xdx. So, $dx = -\frac{du}{dx}$

Tuesday, August 14, 2018 8:20 AM
$$-1$$

$$-\int_{-1}^{1} x^{2} e^{u} \cdot \frac{du}{2x} = G \frac{1}{2} \int_{-1}^{2} e^{u} du = \frac{1}{2} \int_{-1}^{2} e^{u} du$$

$$=\frac{1}{2}e^{u} \left\{ \begin{array}{c} 0 \\ -1 \end{array} \right. = \frac{1}{2} - \frac{1}{2}e^{-1} = \frac{1}{2} - \frac{1}{2e}$$

3)
$$u = \frac{1}{x}$$
. Then $du = -\frac{1}{x^2} dx$

So,
$$dx = -x^{2} du$$

$$\int \frac{e^{u}}{x^{2}} (-x^{2} du) = -\int e^{u} du = \int \frac{1}{2} e^{u} du$$

$$= e^{1/2}$$
 $= e - e^{1/2}$

4 Let
$$1 + 2x = u$$
. Then $du = 2 dx \cdot So$, $dx = \frac{du}{2}$

$$\int \frac{du}{2} = \frac{1}{2} \int \frac{du}{3\sqrt{u^2}} = \frac{1}{2} \int \frac{du}{4} = \frac{1}{2} \int \frac{d$$

Tuesday, August 14, 2018 8:29 AM
$$\frac{1}{2} \cdot \frac{-\frac{2}{3} + \frac{1}{4}}{-\frac{2}{3} + \frac{1}{4}} = \frac{3}{2} \cdot (27) - \frac{3}{2} \cdot (1)$$

$$= \frac{3}{2} \cdot \frac{1}{3} \cdot \frac{1}{4} = \frac{3}{2} \cdot (27) - \frac{3}{2} \cdot (1)$$

$$= \frac{9}{2} - \frac{3}{2} = \boxed{3} \cdot (1)$$